

Solution TD: 04

$$\begin{cases} U_n = 2 \\ U_{n+1} = 3U_n - 2 \end{cases}$$

1) let define $V_n = U_n + \alpha$.

(V_n) geometric $\Leftrightarrow \exists q \in \mathbb{R}^*$; $V_{n+1} = q \cdot V_n$.

$$* V_{n+1} = U_{n+1} + \alpha = 3U_n - 2 + \alpha = 3(V_n - \alpha) - 2 + \alpha$$

$$V_{n+1} = 3V_n - 3\alpha - 2 + \alpha = \boxed{3V_n} - \underbrace{2 - 2\alpha}_0$$

$$\text{so } -2 - 2\alpha = 0 \Rightarrow \boxed{\alpha = -1}$$

so for $\boxed{\alpha = -1}$; (V_n) is a geometric with reason $\boxed{q = 3}$

$$2) V_n = V_1 \times q^{n-1} = V_1 \times 3^{n-1}$$

$$(V_1 = 4 + \alpha = 2 - 1 = 1)$$

$$\boxed{V_n = 1 \times 3^{n-1}}$$

$$U_n = V_n - \alpha = V_n + 1 = \boxed{3^{n-1} + 1 \text{ is } U_n}$$

Ex no 2

1) $V_n = (-1)^n + 1 \Rightarrow V_0 = 2; V_1 = 0; V_2 = 2; V_3 = 0 \dots$

So we can't specify the variation (no monotone)

* $\lim V_n = \begin{cases} 2 & \text{if } n \text{ (even)} \\ 0 & \text{if } n \text{ (odd)} \end{cases}$; otherwise no limit

2) $V_n = -3 \times 2^n$

$$\begin{aligned} V_{n+1} - V_n &= -3 \times 2^{n+1} - (-3 \times 2^n) = -3 \times 2^{n+1} + 3 \times 2^n \\ &= 3 \times 2^n \underbrace{(-2 + 1)}_{=-1} = -3 \times 2^n < 0 \end{aligned}$$

So (V_n) is increase.

* $\lim V_n = \lim -3 \times 2^n = -\infty$ ($q = 2 > 1$)

3) $V_n = 3 \left(\frac{-2}{3}\right)^n + 5$

$$\begin{aligned} * V_{n+1} - V_n &= 3 \left(\frac{-2}{3}\right)^{n+1} + 5 - \left(3 \left(\frac{-2}{3}\right)^n + 5\right) \\ &= 3 \left(\frac{-2}{3}\right)^n \left(\frac{-2}{3} + 1\right) = 3 \left(\frac{-2}{3}\right)^n \left(\frac{-5}{3}\right) < 5. \end{aligned}$$

We can not define the sign of $V_{n+1} - V_n$; so we can not specify the variation of (V_n)

$\lim V_n = 3 \left(\frac{-2}{3}\right)^n + 5$

$\lim \left(\frac{-2}{3}\right)^n = 0$ ($|q| < 1$)

Exo 4: $3n^2 + 3n + 6$ multiple of 6

it mean $(3n^2 + 3n + 6) = 6k$ ($k \in \mathbb{N}$)

* verification for $n=0$: $0+6 = 6 \times 1$. $k \in \mathbb{N}$
($k=1$)

* we suppose $P(n)$ true and we prove $P(n+1)$

$$3n^2 + 3n + 6 = 6k$$

$$3(n+1)^2 + 3(n+1) + 6 = 3n^2 + 6n + 3 + 3n + 3 + 6$$

$$= \underbrace{3n^2 + 3n + 6}_{6k} + 6n + 3$$

$$= 6k + 6(n+1)$$

$$= 6(k+n+1) = 6k' \quad ; k' \in \mathbb{N}$$

$P(n+1)$

So for all n , $P(n)$ is true.